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𝑄газ =
100 ∙ 𝐽 ∙ 𝑘н

60(𝐶доп − 𝐶0)
 

• J

• kн

• 𝐶доп

• 𝐶0

𝑄вв =
2,25

60 ⋅ 𝑇
√

𝐴вв ∙ (𝑆 ∙ 𝐿)2 ∙ 𝑏 ∙ 𝑘обв

𝑘ут
2

3

 , 

• T 

• 𝐴вв

• 𝑆

• 𝐿

• 𝑏



• 𝑘обв

• 𝑘ут

𝑄двиг =
𝐶вых

𝐶доп
∙

𝑉двиг ∙ 𝑛двиг

2

• 𝐶вых

• 𝐶доп

• 𝑉двиг

• 𝑛двиг



𝑄двиг =
21 ∙ 𝐿0 ∙ 𝑁 ∙ 𝑞

3600 ∙ 𝜌 ∙ (𝐾0 − 20)
 

• 𝑁

• 𝐿0

• 𝑞

∙

• 𝜌

• 𝐾0

𝑄мин = 𝑆 ∙ 𝑉мин 

• 𝑆

• 𝑉мин



𝑄раб = 𝑞раб ∙ 𝑛раб 

• 𝑞раб

• 𝑛раб

𝑄вент = 1,43 ∙ 𝑘𝑦 ∙ 𝑄 

• 𝑄

• 𝑘𝑦



𝑄блок 1 = 𝑘блок ∙ (1,43 ∙ 𝑘𝑦 ∙ 𝑄1)  

• 𝑘блок

• Q1

𝑄блок 2 = 𝑘блок ∙ (1,43 ∙ 𝑘𝑦 ∙ 𝑄2 + 𝑄3)  

• 𝑘блок

• Q2

• Q3

𝑄тк =
4

3600
∙ 𝑉тк 

• 𝑉тк



𝑄руд = 𝑘руд ∙ 𝑘н ∙ (𝑄блок 1 + 𝑄блок 2) + 𝑄ту + ∑ 𝑄тк 

• 𝑄блок 1

• 𝑄ту

• 𝑘руд

• 𝑘н

• 𝑄блок 2

• ∑ 𝑄
тк
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